

1965 AGRICULTURAL CROP REPORT

DEPARTMENT OF AGRICULTURE

P. O. BOX 2015 - MODESTO, CALIFORNIA

TO THE STATE DIRECTOR OF AGRICULTURE THE HONORABLE BOARD OF SUPERVISORS THE CHIEF ADMINISTRATIVE OFFICER

Gentlemen:

We herein present Stanislaus County's Agricultural Crop Report for 1965. This is the first time for several years that the income for farm crops has shown a decline. This was approximately a two million dollar decline from the previous 1964 income.

It will be noted in reading this report that there was a large drop in the peach and grape incomes. Livestock, dairying and poultry increased and this offset some of the losses. A serious loss to this group of farmers was an approximate twenty percent in the peach income due to bad weather conditions during harvest.

Again we want to remind you that these are gross figures and do not represent the net income to the farmers.

We wish to thank all of the irrigation districts, business firms and individuals who cooperated with us by furnishing information which made the compilation of this report possible. We also thank the members of the Agricultural Extension Staff and the Agricultural Commissioner's Staff.

Respectfully submitted,

ARMEN V. SARQUIS

Stanislaus County

Director of Extension

Stanislaus County

Agricultural Commissioner

Red Clover - - Acreage and yields were better. Prices were one half cent lower. Gross income was up slightly.

<u>Miscellaneous</u> - - Acreage and value were up slightly. Gross income was up slightly.

VEGETABLE CROPS

Vegetable acreage was up in 1965. Gross income was up almost \$3,000,000. It was, on the overall, a good year.

Tomatoes - - Total acreage was down only slightly, yields were down slightly also. Prices were much better resulting in an increase in gross income of almost \$2,500,000. The absence of braceros was felt in acreage reductions, however, machine picked fields had a better than anticipated yield. The cost of picking was probably up from 1964, but this is not shown as these are gross and not net values.

Watermelons - - Acreage decreased slightly, however, yields were much better. On the average, prices were less but gross income was better than 1964.

<u>Cantaloupes</u> - - Acreage declined again this year. Yields were down slightly. Prices were slightly better. Gross income was off slightly.

Honeydews - - Acreage was down some. Prices and yields were better. Gross income was down slightly.

Other Melons - - Acreage was down, yields were down. Although prices were up, overall gross income was down.

<u>Peas</u> - - Acreage increased one third. Yields and prices were down slightly resulting in a small decrease in gross income.

Spinach - - Acreage was down. Yields were up. Prices were stable. Gross income was slightly down.

Green Lima Beans - - Acreage was up one third. Yields were down slightly, but prices were a little better. Gross income was up significantly.

Onions - - Acreage and yields were up. Prices were down slightly. Gross income was up over 2 per-cent.

<u>Lettuce</u> - - Acreage was down over 50 per-cent. Yields, prices, and gross income were up.

Peppers - - Acreage was up slightly. Yield and prices were down. Gross income was down over 10 per-cent.

<u>Cole Crops</u> - - Acreage was up almost 100 per-cent on cauliflower. Broccoli was stable. Yields on cauliflower were better, broccoli was stable. Both prices were up. Broccoli gross income was up slightly, cauliflower was up over 100 per-cent.

Snap Beans - - These figures are included in miscellaneous in 1965. Acreage was up 25 per-cent. Yields were down slightly. Prices were a little better. Gross income was up approximately \$50,000.

FRUIT AND NUT CROPS

Acreages devoted to fruit and nut crops continue to gain. There is an indication that the walnut and almond acreages are beginning to level off. Apricot planting will continue. We did not have a pear crop this year due to insect losses and poor pollination. Peach income was down drastically due to early fall rains and subsequent development of brown rot. Grape income was also down. Other fruits were fairly stable.

Almonds - - Bearing acreage continues to rise. Yields and prices were down. Gross income was down.

<u>Apricots</u> - Bearing acreage increased. Yields and prices were down. Gross income was down considerably.

Bushberries - - Acreage, prices and yields were up slightly. Gross income was very favorable.

Grapes - This was a bad year for grapes. Acreage increased, however, very slightly. Yields were up considerably, prices down considerably. Gross income was down approximately \$1,000,000.

Clingstone Peaches - - Bearing acreage was down slightly. Yields were very low due to brown rot damage. Prices were better, however, there was a major decrease in gross income.

Freestone Peaches - - Bearing acreage was fairly stable. Yields and prices were down, gross income was down considerably.

Nectarines - - Bearing acreage was stable. Yields, prices and gross income were down slightly.

<u>Strawberries</u> - -Bearing acreage was up, yields were stable. Prices were considerably better with gross income up substantially.

Walnuts - - Bearing acreage continues to increase. Yields were down slightly. Prices were down some also. Gross income was down approximately \$500,000.

Pears - - There was no 1965 crop. There should be a good income next year.

LIVESTOCK AND POULTRY

Beef Cattle - - Cattle and calves on feed increased slightly. Prices were better resulting in a considerable increase in gross income.

Swine - - Pig numbers decreased. Prices were better and gross income was up.

Sheep - - Small increases in numbers and prices resulted in a small increase in gross income.

Horses and Mules - - A small increase in numbers resulted in a small increase in gross income. Prices remained the same.

Dairying - - A reversal of the trend was evident to a small degree. Grade A milk production was down slightly. Prices were better and gross income was up. Manufacturing milk production was up. Prices were better. Gross income was up.

Poultry and Poultry Products - - Poultry income generally was up with the exception of heavy turkeys and market eggs. Heavy turkey production was down almost 50 per-cent. All other production was up. The overall gross income for poultry and poultry products was very favorable. However, prices on market eggs were down slightly with prices for all other poultry products stable or better.

1965 PERMANENT CROP ACREAGES

CROP	BEARING ACRES	NON-BEARING	TOTAL
ALMONDS Davey Drake IXL Jordonola Merced Mission Ne Plus Ultra Nonpareil Peerless Other TOTAL ALMONDS 1965 1964	514 282 155 320 71 2222 747 4661 45 23 9,040 8,371	18 13 2 5 1097 712 516 3631 28 349 6,371 4,869	15,411 13,240
APRICOTS Blenheim-Royal	270 4 4853 5,127 4,563	1645 14 1,659 1,770	6,786 6,333
CHERRIES Bing Black Tartarian	69 6 4 33 2 1 115 96	40 7 	172 222
FIGS Black Kadota TOTAL FIGS 1965 1964	32 12 44 44		7177 717
GRAPES, RAISIN Muscat Thompson Seedless	60 8206 8,266 8,363	 57 57 79	8,323 8,442

CROP	BEARING ACRES	NON-BEARING	TOTAL
Emperor Malaga Ribier Rose de Peru Tokay Other TOTAL TABLE GRAPES 1965	50 245 45 6 7 80 433 433		433 433
Alicante Bouschet Burger Carignane Columbard Feher Szagos	437 33 3983 29 34 8 119 158 10 2410 39 911 700 120 120 140 8 359 275 89 9,874 9,680	155 3 223 45 165 61 81 17 382 1,204 1,116	11,078 10,796
TOTAL ALL GRAPES 1965 1964	18,573 18,476	1,261 1,195	19,834 19,671
NECTARINES Le Grand Early Le Grand	41 18 21 23 30 41 	15 15 15 38	294 319

delliming.

Law and the same

CROP	BEARING ACRES	NON-BEARING	TOTAL
OLIVES Ascolano Manzanillo Mission Sevillano TOTAL OLIVES 1965 1964	1 84 144 1 230 230	13 13 13	243 243
ORANGES Navel Tangerines Valencia TOTAL ORANGES 1965 1964	11 2 13 13	15 14 ——————————————————————————————————	42 30
Andora Carolyn Carson Corona Cortez Dixon Fortuna Gaume Giblin Gomes-Stuart Halford Howard Johnson Loadel McKnight Palora Peak Shasta Sims Sowell Stanford Starn Sullivan Vivian Wiser Other TOTAL CLING PEACHES 1965	356 337 218 581 1683 2054 1229 1562 14 1349 5294 36 24 75 217 1416 685 197 64 99 177 945 191 1217 369 258 20,647 19,834	41 270 284 329 10 268 13 197 78 726 10 122 162 128 31 44 99 15 382 39 7 259 204 3,718 4,162	24,365 23,996

CROP	BEARING ACRES	NON-BEARING	TOTAL
July Elberta	17 3143 44 87 27 10 8 179 37 3,552 3,556	24 31 189 244 179	3,796 3,695
TOTAL ALL PEACHES 1965 * corrected 1964	24 ,1 99 23 , 553*	3,961 4,341	28,160 27,894*
Bartlett	245 6 20 271 186	727 17 744 627	1,015 813
PECANS 1965	15 15	1	16 16
PERSIMMONS 1965	12 12		12 12
PISTACHIO NUTS 1965	1		1 1
PLUMS El Dorado	5 4 31 9 49 48	8 68 76 47	- 125 95
POMEGRANATES 1965	<u>1</u> 4		71 71

STEEN STEEL

CROP	BEARING ACRES	NON-BEARING	TOTAL
PRUNES French Other TOTAL PRUNES 1965 1964	1 1 1	63 8 71 59	72 60
QUINCES 1965 1964	2 2		2 2
MALNUTS Ashley Blackmer Concord Eureka Franquette Hartley Mayette Nugget Payne Waterloo Other Seedling TOTAL WALNUTS 1965 1964	1 57 71 4142 4035 3695 495 49 3039 274 68 13 15,939	198 14 853 169 1820 2 163 1046 63 193 279 4,800 5,113	20,739 19,832

FIELD CROPS: ACREAGE, PRODUCTION, AND VALUE, 1964-65

	Production		ion	Value			
Crop	Year	Harvested acres	Per acres	Total	Unit	Per unit	Cotal
Barley	1965 1964	34,500 38,500	.8 1.2	27,600 46,400	Ton \$	45.00 \$ 45.54	1,242,000 2,113,000
Beans, dry edible (Total	1965 1964	27,100 31,100	.81 .81	21,970 25,040	Ton	224.49 170.61	4,932,000 4,272,000
(Blackeyes	1965 1964	6,000 8,200	.50 .81	3,000 6,640	Ton	200.00 150.00	600,000 996,000
(Baby Limas	1965 1964	4,300 6,000	1.1	4,730 6,000	Ton	200.00 140.00	946,000 840,000
(Large Limas	1965 1964	8,000 8,000	.90 .80	7,200 6,400	Ton	265.00 240.00	1,908,000 1,536,000
(Other varieties	1965 1964	8,800 8,900	.80 .67	7,040 6,000	Ton	210.00 150.00	1,478,000 900,000
Corn	1965 1964	1,300 1,200	3.0 3.0	3,900 3,600		52.00 54.00	203,000 194,000
Cotton Lint	1965 1964	86 70	994 <u>a</u> / 906 <u>a</u> /	, 171 , 131	Bale b		c/ 28,800 c/ 23,600
Cottonseed	1965 1964			68 51		52.00 48.00	3,532 2,590
Hay (Alfalfa	1965 1964	54,000 57,000	6.7 7.0	362,000 399,000		24.00 23.00	8,688,000 9,177,000
(Grain	1965 1964	17,000 14,500	2.5 3.0	42,500 43,500	Ton	20.50 21.00	871,000 914,000
(Wild	1965 1964	1,000 1,000	1.50 1.50	1,50	O Ton	18.30 19.00	27,400 28,500
Oats	1965 1964	2,000 3,000	•75 •75	1,50 2,25		50.00 50.00	75,000 112,000
Pasture & Range (Irrigated pastu	re 1965 1964	85,000 82,000	an an an		Acre	47.00 45.00	3,995,000 3,690,000
(sudan Grass	1965 1964		46. We det and	주입니 Clar Clar - 	· Acre	31.00 30.00	
(Range	1965 1966	418,000		an an a	- Acre	4.50 4.00	
a/ Pounds	- '	-					

FIELD CROPS: ACREAGE, PRODUCTION, AND VALUE, 1964-65

		••		Production		Value	
Crop	Year	Harvested acres	Per acre	Total	Unit	Per unit	Total
Rice	1965 1964	2,100 2,100	2.4 2.4	5,040 5,040	Ton	\$100.00 \$	
Silage (Corn	1965 1964	22,800 22,200	15.0 12.5	342,000 278,000	Ton	8.00 7.00	2,736,000 1,946,000
Sorghum Grain	1965 196 4	5,900 4,900	2.5 2.0	14,800 9,800	Ton	45.00 44.00	666,000 431,000
Straw (Grain	1965 1964			4,000 4,100	Ton	10.00 10.00	40,000 41,000
Wheat	1965 1964	500 500	•90 •75	450 3 7 5	Ton	50.00 50.00	22,500 18,800
Sugar Beets	1965 1964	4,265 5,256	20.0 21.0	85,300 110,000	Ton "	12.00 12.00	1,024,000 1,320,000
Misc. Field Crops	1965 1964	1,100 1,100	20 de 90 20 de 90		Acre	106.00 105.00	117,000 116,000
TOTAL	1965 1964	679,651 686,426			400 400 GE	{	\$27,149,232 26,669,490
SEEL	CROPS	: ACREAGE,	PRODUCT	ION, AND VA	LUE, 19	964 - 65	
Alfalfa (Certified	1965 196 4	2,346 2,901	405 650	949,000 1,886,000	Lbs.	\$ •35 \$ •35	332,000 660,000
(Common	1965 1964	1,000 1,050	300 600	300,000 630,000	Lbs.	.30 .31	90,000 195,000
Peas	1965 1964	2,100 1,300	2,000 1,900	4,200,000 2,470,000	Lbs.	.05 .05	210,000 124,000
Red Clover	1965 1964	1,060 813	506 600	536,000 488,000	Lbs.	•345 •35	185,000 171,000

SEED CROPS: ACREAGE, PRODUCTION, AND VALUE, 1964-65

Misc. Field and	1965	2,000	 	Acre	92.00 80.00	184,000 152,000
Vegetable Crops	1964	1,900	 		00.00	2/2/2000
TOTAL	1965	8,506	 			\$ 1,001,000
	1964	7,964	 			1,302,000

VEGETABLE CROPS: ACREAGE, PRODUCTION, AND VALUE, 1964-65

		· · · · · · · · · · · · · · · · · · ·					
			Produ	ction		Value Per	
		Harvested	Per				M-+-7
Crop	Year	acres	acre	Total	Unit	unit	Total
Beans, Green Lima	1965 1964	8,920 6,130	1.27 1.31	11,300 8,050	Ton 3	\$142.00 \$ 141.00	1,605,000 1,135,000
Broccoli	1965 1964	200 200	2.50 2.50	500 500	Ton	150.00 130.00	75,000 65,000
Carrots	1965 1964	250 300	20.0 20.0	5,000 6,000	Ton.	19.00 20.00	95,000 120,000
Cauliflower	1965 1964	700 390	4.5 4.0	3,150 1,560	Ton	160.00 140.00	504,000 218,000
Corn, sweet	1965 1964	50 50	3.25 3.75	163 188	Ton	90.00 85.00	15,000 16,000
Lettuce, head	1965 1964	200 558	13.7 10.0	2,740 5,580		120.00 56.00	330,000 312,000
Melons (Cantaloupe	1965 1964	775 870	6.39 7.25	4,950 6,310		58.50 52.25	290,000 330,000
(Honeydews	1965 1964	2,305 2,700	6.36 6.0	14,700 16,200		57.50 54.25	845,000 879,000
(Persian	1965 1964	287 337	5.45 5.7	1,560 1,920		86.00 81.25	135,000 156,000
(Other Muskmelons	1965 1964	593 600		3,52 3,78		82.00 80.50	288,000 304,000
(Watermelons	1965 1964	850 900		17,00 10,80		25.00 35.00	425,000 378,000

			Pro	oduction	Value			
0	**	Harvested	Per	•		Per		
Crop	Year	acres	acre	Total	Unit	unit	Total	
Onions	1965 1964	320 230	20.0 17.5	6,400 4,025	Ton S	\$ 42.35 56.00	\$ 271,000 225,000	
Peas, green	1965 1964	6,310 4,650	1.49 1.98	9,400 9,230	Ton	71.50 75.00	672,000 692,000	
Peppers, Bell	1965 1964	1,170 1,150	9.9 10.8	11,600 12,420	Ton	70.00 75.50	812,000 938,000	
Pumpkins	1965 1964	215 317	18.6 18.0	4,000 5,700	Ton	9.40 8.50	37,600 48,500	
Snap Beans	* 1965 1964	1,450	2.28	3,300	Ton	73.00	241,000	
Spinach	1965 1964	1,300 1,680	9.77 8.63	12,700 14,500	Ton	23.50 23.50	298,000 341,000	
Squash	1965 1964	70 125	20.0 15.0	1,400 1,875	Ton	25.00 35.00	35,00 0 65,600	
Sweet Potatoes	1965 1964	618 609	2.8 2.5	1,730 1,520	Ton	160.00 190.00	277,000 289,000	
Tomatoes (Total)	1965 1964	7,280 7,390	18.7 19.7	135,800 145,900	Ton	51.77 32.31	7,031,000 4,713,500	
(Fresh	1965 1964	1,600 1,100	8.6 8.0	13,800 8,800	Ton	195.00 140.00	2,688,000 1,232,000	
(Ripes to Cannery from fresh fields	1965 1964	er 10 50	1.0	1,100	Ton	25,00	27,500	
(Cannery	1965 1964	5,680 6,290	21.4 21.6	122,000 136,000	Ton	35.60 25.40	4,343,000 3,454,000	
Misc. Vegetables	1965 1964	2,800 1,000	to 40 (10)	***	Acre Acre	276.00 375.00	774,000 375,000	
TOTAL	1965 1964	35,213 31,636		dep and dep	■ (2) (8) (2) (8) (4)	200 400 QD	\$14,814,600 11,841,600	

^{*} Included in Misc. Vegetables in 1965

FRUIT & NUT CROPS: ACREAGE, PRODUCTION, AND VALUE, 1964-65

	· · · · · · · · · · · · · · · · · · ·		Produc	tion		Val	ue
		Bearing	Per			Per	
Crop	Year	acres	acre	Total	Unit	unit	Total
Almonds	1965	9,040	•75	6,780	Ten	\$520.00	\$3,526,000
TITMO TOO	1964	8,371	•90	7,502	1011	570.00	
	1704	1 ارون	• 70	19502		710.00	4,276,000
Apricots (Total)	1965	5,127	8.2	42,000	Ton	74.83	3,101,000
	1964	4,563	11.4	52,000	£1	103.56	5,385,000
(Canned	1965			32,800	Ton	78.00	מ ללפ מממ
(Oarmed	1964			40,400	1011	110.00	000 و 558و 2
	1704			40,400		TTO •00	000, بابلبار با
(Frozen	1965			2,100	Ton	78.00	164,000
	1964	**		1,200	Ħ:	110.00	132,000
(Juice	1965			5,200	Ton	50.00	260,000
(ource	1964			8,900	1011	80.00	260,000 712,000
	1704			0,500		00.00	(12,000
(Dried	1965			180	Ton	660.00	119,000
	1964			150	11	647.00	97,000
Bushberries	1965	498	5.28	2,630	Ton	423.00	1,113,000
Dusiberries	1964	464	74.777	2,058	1011	349.17	718,600
	1704	404	et antet	2,000		J47 • ± {	120,000
Cherries	1965	115	3.0	345	Ton	325.00	112,000
	1964	96	2.0	192	11	320.00	61,400
Grapes (Total all)	1965	18,573	7.67	142,400	Ton	38.55	5,488,600
diaped (10 dar arr)	1964	18,476	6.45	119,200	H	54.20	6,461,000
		-		-			• •
(Raisin Varieties	1965	8,266	8.50	70,300	Ton		2,365,000
Total)	1964	8,363	7.00	58,500	н	41.57	2,432,000
(Dried green wt.	1965			8,000	Ton	53.88	431,000
(Natural Thompsons	1964	74 W W		2,000	11	45.00	90,000
(-			·
(Golden bleached	1965		~~~	7,400			233,000
(Thompsons	1964			5,400	H:	40.00	216,000
(Canned	1965			1,100	Ton	50.00	55,000
Camed	1965			5,500		55.00	
	- //			٥٥٥رور		J) •00	
(Crushed	1965			53,800	Ton		
	1964			45,600	11	40.00	1,824,000

FRUIT & NUT CROPS: ACREAGE, PRODUCTION, AND VALUE, 1964-65

	Site	7	-	duction	Value
Crop	Year	Bearing acres	Per acre	Total	Per Unit unit Total
(Table Varieties (Total)	1965 1964	433 433	7.0 6.0	3,000 2,600	Ton \$ 30.20 \$ 90,600 " 48.46 126,000
(Fresh Market	1965	40 en co	the same day	200	Ton 150.00 30,000
(Crushed	1965 1964	600 COT COS	000 000 900 000 000 50 ¢	3,000 2,400	Ton 30,20 90,600 " 40.00 96,000
(Wine Varieties (Total)	1965 1964	9,874 9,680	7.0 6.0	69,100 58,100	Ton 43.89 3,033,000 67.18 3,903,000
(Fresh Market (1)	1965 1964	600 (00 (<u>P</u> 2)		3,800 3,300	Ton 47.00 179,000 " 70.00 231,000
(Crushed (2)	1965 1964	480 can 150 dan 150 din	40 40 40	65,300 54,800	Ton 43.70 2,854,000 " 67.00 3,672,000
Nectarines	1965 1964	279 281	6.3 6.5	1,760 1,830	Ton 78.00 137,000 180.00 146,000
Olives	1965 1964	230 230	.96 .50	222 115	Ton 128.00 28,500 14,000 16,100
Peaches, Clings *	1965 1964	17,707 18,271	11.2	197,980 256,000	Ton 74.26 14,702,000 69.26 17,731,000
Peaches, Freestone	1965 1964	3,552 3,516	11.3 11.7	40,000 41,000	Ton 52.00 2,080,000 60.00 2,460,000
Strawberries	1965 1964	224 135	5.0 5.0	1,120 675	Ton 350.00 392,000 " 280.00 189,000
Walnuts	1965 1964	15,939 14,709	.65 .72	10,520 10,650	Ton 420.00 4,418,000 4,899,000
Misc. Fruits & Nuts	+1965 1964	412 409	W 49.00	50 TO 50	Acre 345.00 142,000 143,000
Total	1965 1964	71,696 69,521		**************************************	\$35,240;100 42,486,100

⁽¹⁾ On the vine price(2) Delivered to winery

Cling Peach Association estimate

Includes Figs, Pomegranates, Persimmons, Pecans, Pears and Plums

NURSERY PRODUCTS: PRODUCTION AREA, SALES, AND VALUE 1964-65

		Produc	tion	Quantity		Va	lue:
Item	Year	are House sq.ft.	Field	sold by Producers	Unit	Per unit	Total
Nursery Crops							
(Deciduous fruit & nut trees	1965 1964		110 133	1,245,000 1,375,000	Plants	\$.627 .572	\$ 780,000 787,000
(Grapevines	1965 <u>b</u> // 1964		35	277,000	Plants	.054	15,000
(Rose Plants	1965 1961		 5	45,000	 Plants	.86	38,700
(Small Fruit Plants	1965		33 30	13,250,000 9,202,000	Plants	.013 .015	171,000 138,000
(Vegetable Plants	1965 <u>b</u> / 1964		75	1,040,000	Plants	.007	7,280
(Ornamental trees & shrubs a/	1965 1964		32 39	259,000 304,000	Plants	•51 •536	132,000 163,000
(Indoor decoratives	1965 <u>b</u> / 1964	64,000		117,000	Plants	-77	90,100
(Misc. Nursery stock <u>b</u> /	1965 1964		125 78	44 M T		012.00 150.00	364,000 113,000
TOTAL	1965 1964	***				*	\$1,447,000 1,352,080

a/ Includes broadleaf evergreens, coniferous evergreens, deciduous shade trees, and deciduous shrubs.

b/ Includes bedding plants, cut green decoratives, turf, indoor decoratives, vegetable plants and grapevines.



LIVESTOCK AND POULTRY: PRODUCTION AND VALUE, 1964-65

			ction		Value	
The state of the s		No. of	Total		Per	
	Year	head	liveweight	Unit	unit	Total
Cattle and calves	1965	68,700	584,000	cwt.	\$22.00 \$	12,848,000
(Beef	1964	68,000	578,000	It.	20.00	11,560,000
(Dairy	1965	60,000	260,000	cwt.	13.50	3,510,000
	1964	60,000	260,000	11	12.50	3,250,000
Sheep and lambs	1965	9,600	11,000	cwt.	22.00	242,000
	1964	9,500	10,900	12	19.00	207,000
Hogs and pigs	1965	8,500	12,800	cwt.	18.00	230,000
	1964	9,000	13,500	11	16.00	216,000
Horses and mules	1965	2,100	(40) (40)	Head	300.00	630,000
	1964	2,000		18	300.00	600,000
Broilers and fryers	1965	9,942,000	39,477,000	Lbs.	•1632	6,443,000
	1964	8,645,000	33,283,000	11	. 1553	5,169,000
Other chickens	1965	2,000,000	9,000,000	Lbs.	•06	540,000
	1964	2,000,000	9,000,000	· ##	•06	540,000
Chicks	1965	30,934,000		each	.119	3,681,000
	1964	26,891,000		t.	•124	3,334,000
Turkeys, heavy	1965	840,000	16,848,000	Lbs.	.221	3,725,000
	1964	1,600,000	31,360,000	"	•205	6,429,000
Turkeys, poults	1965 1964	6,806,000	en de so	each	•636	4,329,000
		6,233,000	ico poi das	••	.681	4,245,000
Rabbi ts	1965	21,000	98,000	Lbs.	•236	23,100
	1964	21,000	98,000	····	.236	23,100
TOTAL	1965 1964			400 Sta cya		36,201,100
						35,573,100
LIVESTOCK	AND PO	OULTRY PRODUCTS	S: PRODUCTION	AND VAL	UE, 1964-69	
	Year	Production	Unit	unit		Total
Milk						
Market	1965	5,318,000		4.25		\$22,602,000
(Revised)	1964	5,339,000	f¢.	4.17		22,264,000
(15011500)						
Manufacturing (Revised)	1965 1964	2,503,000 2,309,000	cwt.	3.39 3.37		8,485,000 7,781,000

LIVESTOCK AND POULTRY PRODUCTS: PRODUCTION AND VALUE, 1964-65

				Per	
	Year	Production	Unit	unit	Total
Eggs, chickens (Market	1965 1964	52,500,000 50,000,000	Doz.	\$.274 .295	\$
(Hatching	1965 1964	3,246,000 2,562,000	Doz.	•72 •74	2,351,000 1,909,000
Eggs, turkey (Hatching	1965 1964	7,590,000 7,200,000	each "	•263 •25	1,996,000
Wool	1965 1964	68,100 104,900	Lbs.	•#2 •#2	 30,600 42,000
TOTAL	1965 1964				\$ 49,849,600 48,546,000

JANUARY 1 INVENTORIES OF LIVESTOCK AND POULTRY, 1965-66 (in number of head)

	January 1, 1965	January 1, 1966
Cattle and calves (Milk cows 2 years and over (Cattle and calves on feed	84,000 81,000	86,000 82,000
Sheep and lambs	8,000	8,100
Hogs and pigs	9,500	9,000
Hens and pullets of laying age	2,500,000	2,625,000
Turkey Breeding hens	110,000	115,000

APIARY PRODUCTS: PRODUCTION AND VALUE, 1964-65

		Production			Value		
	Year	Total	Unit	Per Unit	Total		
Honey	1965 1964	753,000 494,000	Lbs.	\$.125 .139	\$ 94,100 68,700		
Beeswax	1965 1964	12,600 8,230	Lbs.	•47 •425	5 ,920 3 , 500		
Package Bees	1965 1964	8,500 2,550	Lbs.	1.00 1.00	8,500 2,550		
Queen Bees	1965 1964	6;250 1,900	Each	1.35 1.35	8,440 2,560		
Pollination	1965 1964	17,500 10,000	Colony "	3.00 3.00	52,500 30,000		
TOTAL	1965 1964				\$ 169,460 107,310		

SUMMARY

ITEM		ACREAGE	ESTIMATED VALUE
Field Crops	1965	679,651	\$ 27,149,232
	1964	686,426	26,669,490
Seed Crops	1965	8,506	1,001,000
	1964	7,964	1,302,000
Vegetable Crops	1965	35,213	14,814,600
	1964	31,636	11,841,600
Fruit & Nut Crops	1965	71,696	35,240,100
	1964	69,521	42,486,100
Nursery Products	1965 1964		1,44,7,000 1,352,080
Livestock & Poultry	1965 1964		36,201,100 35,573,100
Livestock & Poultry Products (Revised)	1965 1964		49,849,600 48,546,000
Apiary Products	1965 1964		169,460 107,310
TOTAL (Revised)	1965	795,066	\$ 165,872,092
	1964	795,547	167,877,680